Year 4 Arithmetic Test 4 teStbase

11 x 8 =

1 mark
7 x5 =

1 mark
3B+7+7=

1 mark

3005

+ 3333

1 mark
8999 - 1000 =

1 mark
63-9-9=

1 mark
68 x 0 =

1 mark
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Year 4 Arithmetic Test 4 teStbase

7_2_
9 9

1 mark
3587 + 444 =

1 mark
6x4=

1 mark
9x9=

1 mark
6700 - 670 =

1 mark
850 - ? =250

1 mark
36+12=

1 mark
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Year 4 Arithmetic Test 4 teStbase

27 +3=

1 mark
54 +6=

1 mark
108 -9 =

1 mark
46 +1 =

1 mark
—_—_—=
7 7

1 mark
2x3x7=

1 mark
?+ 190 =280

1 mark
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Year 4 Arithmetic Test 4 teStbase

8x3x4=
1 mark
55 x6 =
1 mark
6592
- 3105
1 mark
273
x 3
1 mark
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Year 4 Arithmetic Test 4

testbase

Mark scheme

1. 88

2. 35

3. 49

4. 6338
5. 7999
6 45

7 0

8. gor equivalent

9. 4031
10. 24
11. 81
12. 6030
13. 600
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

9
12
46

8 .
- or equivalent

1
eg. 1-
d 7

42
90
96
330
3487

819
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